10 9 8 7 6 5 4 3 2 1

Face View INSERT ORIENTATION
(see Insert Orientation) Housing 2 Poles + 2 Earths Housing 3 Poles + 1 Earth
18:0.1
- — %
Type of Screw and Gasket o N % Ez»g
. N | see sheet 2, PN KEY e M "z N Ezlﬁ Earth H12 -Not Used
A 1/ = H Earth H6/H12 - Not Used | 25 E451XXXXXX2XXXX (L2
Q[ H N E451 XXXXXX1IXXXX PIN 3 Not Used
@ | — e — : | B @Al | &
— ; = Z | ‘\ ose lil /II il ~—°F* —
A\ ‘ W < N 1 L \ _ 2 J /
' ‘ — RN 7 bo "o
| . k[o)4| | Earth H3 - Not Used ||&[0]4
! Earth H3/H9 - Not Used = E451XXXXXX3XXXX =
Y 1
E451 XXXXXX4XXXX PIN 3 Not Used
~— ~——
> Earth H6/H12 - Not Used —
LIJ W
% EASTXXXXXXTXCIX Earth H6 - Not Used ||E{0]#
P E451 XXXXXX1XC7X E451XXXXXXEXXXX re
DN'. E451 XXXXXX1XR0OX PIN 3 Not Used
= E451XXXXXX1XR2X
2
(7]
2 ~
@ nsert 180" B0l | Earth HI - Not Used
1 i = E451 XXXXXX9XXXX
PIN 3 Not Used
(40) ~—~ ~~—
#
/ Tinned Ends
Y v aa'%
Type of Screws and Gaskets
TABLE OF LENGTH TOLERANCES [mm]
Profiled Gasket Flat Gasket Integrated Gasket Screw M3x25 Over |Up to and Including | Tolerance
0 1000 +20
(25) 1000 | 3000 +30
— 3000 |5000 +40
P ﬂ:m 5000 | 10000 +50
[E @ i] - 10000 | 15000 £100
= 15000 | 20000 +150
- 20000 +L/100
N\ Ji Screw M3X27 + WaSher SYMBOLS gwiN[;TS:VJzﬁSON'I'S;?:IKILSEINFOEI\GAF'I{'I';);;T;IZCRSEZECT:ARYTO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
T o mm | 1:1 molex
(C28) (C28) ¥ o[ e oices
( 27 ) W= 0|mcuartoL ¢ 10- |ECNO: 791448 STANDARD E451 DIN FORM A
$ i @: 0 |2 PLAcES DRWN: MARCIM6 2024/06/28 EN 175301-803
- ] $ % 5 S - o Groces CHK'D: RSILLER 2024/07/04
- - V' 0 APPR: RSILLER 2024/07/04 PRODUCT CUSTOMER DRAWING
8 ; /(; q v = O jztizis j 0;)35 g\IRI-I\;\IIQL zg\“;ISION 2019/06/04 DOCUMENT NUMBER DOC TYPE| DOC PART|REVISION
z = S| /Nerwasher mo o[ | laeen mouen o] 1210504000 [Peo] 000 | Af
DOCUMENT STATUS| P1 | RELEASE DATE [ 2024/07/04  12:12:01 | T2 0| ot @ =+ |A3-SIZE| 121050 |SEE 1210504000_PDP| GENERAL MARKET |  10F 3

0] 9 8 7 6 5 4 3 2 1




10 9 8 7 6 4 3 2 1
KLUCZ / PN KEY ENGINEERING PN
\ | | | | | | | | | | | | | | |
E - Packing without bag Tur;%r of wires:| |Cable type: ge-agr(ezﬁlour: g5a(t):)l_e Igggr?]th in[cm] Wiring Configuration: Voltage and LED Colour
- Si i - Ires See Table _
W - Single Packing N - Black 300 = 300cm See sheet 3 Red LED Green LED Yellow Led
A - CSA-UL Black 10K = 1000cm 1=12V A=12V G=12Vv
B - CSA-UL Grey 2 =24V B =24V H =24V
3 =48V C =48V K =48V
Earth PIN location (see insert orientation table): g - ;;gx D =115V k/l=—121350\</
1= Double Earth on H6 & H12 = E =230V =
2 = Earth on H12
3 = Earth on H3 T .
_ ype of Gasket and Screw (see sheet 1):
4 = Double Earth on H3 & H9 1’= NBR Profile Gasket + Fixing Screw M3x25mm
6 = Earth on H6 2 = NBR Flat Gasket + Fixing Screw M3x25mm
9 = Earth on H9 3 = Silicone Profile Gasket + Fixing Screw M3x25mm
4 = Silicone Flat Gasket + Fixing Screw M3x25mm
P = NBR Integrated Gasket + Fixing Screw with Washer M3x27mm Assembled on Connector
R = NBR Integrated Gasket + Fixing Screw with Washer M3x27mm NOT Assembled on Connector
T = NBR Profile Gasket + Fixing Screw with Washer M3x27mm
CABLE | NO. OF | CROSS CABLE CABLE JACKET | KOLORY PRZEWODOW | o\ - o
TYPE | WIRES | SECTION 0.D. WIRES COLOR
A2 2 |AWG 20 |5.4mm0.2 |PVCBLACK BN, BU -
A3 2  |AWG 18 |6.2mm0.25 |PVC BLACK BN, BU -
B2 2 |AWG20 |5.6mm0.2 |PURBLACK BN, BU -
B3 2 |AWG 18 |6.2mm#0.2 |PUR BLACK BN, BU -
12 2 |0.5mm?> |55mm+0.3 |PVC GREY BN, BU -
13 2 |0.75mm? |5.5mm+0.2 |PVC GREY BK1,BK2 -
14 2 | 1mm? 7.1mm#0.2 |PVC GREY BN, BU -
N2 2 |0.5mm? |5.25mmz0.65 | PVC BLACK BN, BU -
N3 2 |0.75mm? |6.45mmz0.75 | PVC BLACK BN, BU -
N4 2 | 1mm? 6.45mm+0.75 | PVC BLACK BN, BU -
P2 2  |0.5mm? |55mm+0.2 |PURBLACK BN, BU -
P3 2 |0.75mm? |6.5mm+0.2 |PUR BLACK BN, BU -
w2 2 |0.5mm? |~52mm WSOR BLACK |BN, BU -
w3 2 |0.75mm? |~6.0mm WSOR BLACK |BN, BU -
SYMBOLS ;ng[;T::VJ:ﬁSONL;tJEEEINFORMATION THAT IS PROPRIETARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
W - om 1 1 CURRENT REV DESC: olex
W: 0 | GENERAL TOLERAN-CES
(UNLESS SPECIFIED)
W= 0 ANGULARTOL + 10° |ECNO: 791448 STANDARD E451 DIN FORM A
/= 0 |4pLaces N DRWN: MARCIM6 2024/06/28 EN 175301-803
- ohres T CHK'D: RSILLER 2024/07/04
Notes: %; Z Sroes T o ﬁ\\lpl_';&L IES\I/LEIIEORN- 2024/07/04 PRODUCT CUSTOMER DRAWING
1 - 1 PLACE t 03 [DRWN: SSM 2019/06/04
; : Elreae\llvsii gsie:ae;(:sllascr;er:; r‘]l t2f1o ?Sgéoggqggop 8‘82 currently configured part numbers. 5: Z srross T o5 |APPR: ROILLER 201906128 1210504000 PSD| 000 | A1
. . - - = DRAFT WHERE APPLICABLE | THIRD ANGLE PROJECTION DRAWING SERIES MATERIAL NUMBER CUSTOMER SHEET NUMBER
DOCUMENT STATUS| P1 | RELEASE DATE | 2024/07/04  12:12:01 | T2 0| i @ -3 |A3-SIZE | 121050 |SEE 1210504000 PDP| GENERAL MARKET | 2 OF 3

0] 9 8 7 6 5 4 3 2 1



10 9 8 7 6 5 4 3 2 1

WIRING DIAGRAMS
ELECTRICAL DIAGRAM 00
F WITHOUT LED ELECTRICAL DIAGRAM A1 ELECTRICAL DIAGRAM C3 ELECTRICAL DIAGRAM C4
BN O 1 BN O 1 BN O 1
BN O 1 (BK 1)
BU O 2
BU
N/U R BU O 2 BU O 2 (BK2) O 2
N/U L N/U * N/U + N/U ‘ +
N/U + N/U + N/U +
ELECTRICAL DIAGRAM C7 ELECTRICAL DIAGRAM DO ELECTRICAL DIAGRAM EO ELECTRICAL DIAGRAM RO
BN O 1 BN O 1 BN O 1 2-
N o
1+
BU O—1«¢ 2 BU O 2 BU O 2 BU
N/U * N/U ‘ + N/U + N/U =
N/U + N/U + N/U + N/U +
ELECTRICAL DIAGRAM R2 ELECTRICAL DIAGRAM SO ELECTRICAL DIAGRAM S1 BN ELECTRICAL DIAGRAM S3
2- BN O 1 BN O 1 (BK1) O 1
BN
x x
1+
BU
BU BU O 2 BU O 2 (BK2) O 2
N/U = N/U ‘ = N/U = N/U ‘ =
N/U = N/U * N/U * N/U =
SYMBOLS 'DrwiN[)SII?()A:VJ:ﬁS()ON'TS/?:IEI_SEINFOEI\[AJ/E’EEL}?LIECRSEF;EFARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
o mm | 11 molex
o e Srearieny
W =0 ANG(ULAR ToL ¢ 10 ,,) EC NO: 791448 STANDARD E451 DIN FORM A
- 0lerncs - DRWN: MARCIM6 2024/06/28 EN 175301-803
. CHK'D: RSILLER 2024/07/04
W - Ojoruaces L APPR: RSILLER 2024/07/04 PRODUCT CUSTOMER DRAWING
/=0 2PLACES t 9% [INITIAL REVISION: DOCUMENT NUMBER DOC TYPE| DOC PART| REVISION
T o'PAcE |+ 03 |pRWN: SSM 2019/06/04
§= Z oPLACES |+ 05 |APPR: RSILLER 2019/06/28 1210504000 PSD| 000 | A1
DOCUMENT STATUS| P1 | RELEASE DATE | 2024/07/04  12:12:01 | T 0| i oreneons =1 |A3-SIZE| 121050 |SEE 1210504000 PDP| GENERAL MARKET | 3 OF 3

0] 9 8 7 6 5 4 3 2 1




10 9 8 | 7 | 6 5 4 | 3 | 2 | 1

24.3:0.3 WIRING CONFIGURATION
. -J2U. CIRCUIT PRINTOUT/WHITE
ﬁt_(i " 1 ELECTRICAL DIAGRAM ELECTRICAL DIAGRAM ELECTRICAL DIAGRAM
J 0 BROWN
F (| t Screw and gasket, ] (] ‘ ) 'é — < 2- BLAK D 1| !
- see sheet 2, PN Key Q7 @; %LIDJ. =
o o v
% | A | = Lt {il+ H-(®) -1 8
e AEZ jP 3 : : *>t; gg 1E,::EZ:E§Z:R__<1+ Bk 2 2 | e 2
= 8, 3 oE
— \ : N w= NoT UsED O——< & NoT UseD O——< & NoT UseD O——< +
%2 NoT ussD O—< L nTusso O—< L NnoTussD O—< L
was
=
‘ <
_T_ = Z% ELECTRICAL DIAGRAM ELECTRICAL DIAGRAM ELECTRICAL DIAGRAM
E ! See Insert Qrientation ! B
o<
‘ zo m" 1 | erown 1 BROWN O— 1
! Insert Orientation
J;; DOUBLE EARTH ON 6H & 12H EARTH PIN ON 12H EARTH PIN ON 6H DOUBLE EARTH ON 6H & ON 12H x
— N P2 E 45 DOOGXXIXXXX | E4SIXXXXXXZXXXX | E4SIXXXXXXEX XXX E4SIXXXXXIXC3X e 2|, 2 | e )
~ — 3 E4S5IXXXXXIXC7X
— = il m = E45IXXXXXIXROX NOT USED O——< & NOT USED O————< & NOT USED O————< +
L [EZLj] [Ez;j] nﬁzjl EA5IX XXX XIXRZX NoT UsED O—— < L. NOT USED O———< L NoT UsEd O———< L
D & e, = £
w
H m ELECTRICAL DIAGRAM ELECTRICAL DIAGRAM ELECTRICAL DIAGRAM
-+ <~
:ﬂ (g BROWN + 1 o 2- BROWN + O————— N 1
DOUBLE EARTH ON 3H & SH EARTH PIN ON 3H EARTH PIN ON SH v x
’ E4SIXXXXXXELXX XX JELSIXXXXXXSXXXX JEASIXXXXXXIXXXX 1
BLUE — 2 *
al - 2
TINNED o T R = wor w0 o< | ™ om0 <t e Nam usn:] D
c |ﬂ©e|ﬂ [EEOH] I]]O3j| oo, NOT o—<& NoT o— <L NOT USED O——— <L
= = Lo Bs oty 008 1ypa 1 Coding ELEBOUKXHERS
NOTE! IN CASE OF CRCUT
C3.C7.ROR2 HOUSING INVERSE OF 180°.
ELECTRICAL DIAGRAM
Table of lenght tolerances [mm]
WITHOUT LED
Over Up to and including| Tolerance (+)
0 1000 20 o !
1000 3000 30
3000 | 5000 40 BLE 2
5000 0000 50 L
B 10000 | 15000 100 Nor UsED O <=
15000 20000 +150 Not usEd O——<E
20000 £|_/100
S g g QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS ’:‘RST ANGLE
w ==2| |symeoLs| (UNLESS SPECIFIED) MM ONLY - METRIC J© PROJECTION
— e mm INCH | DRAWN BY DATE TITLE
OSSR\ -0 [TFAGESE -~ [£-— UMARSZALEK  2012/11/12 E4ASIXXXXXXXXXXX
w S
d T é % S 3 PLACES | —— I CHECKED BY DATE DIN FORM A
S =222|E\/=0 [ZPLACES[x - [£-—  MSZWAJKOWSKI 2012/11/12 EN 175301-803
LSB2o8 TPLACE E-—— [£-— APPROVED BY DATE
A ILEH=E 0 PLACE JE-—- [Z-—  MIWASIECZKO 2013/02/12 Moieéx
% SZEE ANGULAR £ ——© MATERIAL NO. DOCUMENT NO. SHEET NO.
=] +
To==% DRAFT WHERE APPLICABLELMATRIX DRAWING SD-121050-004 1 OF 3
owoo< = MUST REMAIN SIZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A I WITHIN DIMENSIONS A 3 INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

tb_frame_A3_P_ME_F
Rev E1 2012/01/25 9 8 7 6 5 | 4 | 3 | 2 | 1




10 9 8 7 6 5 4 3 2 1

E - Packing without bags
W - Single packing
Q - Quick packing

NUMBER OF WIRES:
1=2 WIRES

2=2 WIRES + EARTH
3=3 WIRES + EARTH

CABLE TYPE
E SEE SHEET 3 - TABLE 1

CABLE CROSS SECTION AREA
SEE SHEET 3 - TABLE 2

HEAD COLOUR:
G=GREY;

— N=BLACK;
T=TRANSPARENT;
A=CSA-UL BLACK;
B=CSA-UL GREY.

CABLE LENGHT IN CM
Eg.050=50 CM, 300=300 CM, 10K=1000 CM.

EARTH PIN LOCATION:

1=DOUBLE EARTH ON 6H AND 12H,
2=EARTH ON 12H.

6=EARTH ON 6H.

TYPE OF GASKET AND SCREW:

1=NBR PROFILE GASKET + FIXING SCREWS (M3x25 mm).

2=NBR FLAT GASKET + FIXING SCREW (M3x25 mm).

3=SILICONE PROFILE GASKET + FIXING SCREW (M3x25 mm).

4=SILICON FLAT GASKET + FIXING SCREW (M3x25 mm).

P=INTEGRATED GASKET ASSEMBLED + FIXING SCREW WITH GROMMET ASSEMBLED ON CONNECTOR (M3x27 mm).
R=INTEGRATED GASKET + FIXING SCREW + GROMMET (M3x27 mm).

T=PROFILE GASKET + FIXING SCREW + GROMMET (M3x27 mm).

INTERNAL CIRCUIT
WIREING CONFIGURATION

VOLTAGE AND LED COLOUR:

— 1= 12V A= 12V G= 12V
2= 24V B= 24V H= 24V
3= 48V FRED LED C= 48V GREEN LED K= 48V YELLOW LED

4= 15V D= 115V L= 15V
5= 230V; E= 230V M= 230V

1112
02/12

QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS ’:‘RST ANGLE
syMBOLS| (UNLESS SPECIFIED) MM ONLY - METRIC |1 ©

W-0 [ZPLACES — ;NEH JWARSZALEK 2012111717 E45€J>I<NX>I<:>E)>§€>IE’IX>/<AXXX
\&/=0 ;Etﬁ%i i MSZWAJKOWSK | 2012/ 11/12 EN 175301-803

201211

DESCRIPTION

1PLACE |£-— +-— APPROVED BY DATE

0 PLACE [E-==  [£-== MIWASIECZKO 2013/02/12 er

ANGULAR £-—-° MATERIAL NO. DOCUMENT NO. SHEET NO.

DRAFT WHERE APPLICABLELMATRIX DRAWING SD-121050-004 2 OF 3

CH'KD:MSZWA JKOWSK 12012/11/12

ORIGINAL RELEASE

EC NO: IPG2013-1190
APPR:MIWASIECZKO 2013/

MUST REMAIN SIZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
WITHIN DIMENSIONS A 3 INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

T>DRWN: JMARSZALEK

REV

tb_frame_A3_P_ME_F
Rev E1 2012/01/25 9 8 7 6 5 | 4 | 3 | 2 | 1



10 9 8 7 6 5 4 3 2 1

TABLE 2 - CABLES TABLE 2 - CABLES
Molex PN [mPm|Code|Wires |Cross Section Material Color Diameter@ |DINA-B[DINC Molex PN [mPm|Cede|wWires [Cross Section Materal Color Diameter @ |DIN A-B|DIN C
T270180080] T | 0 | 3 Tmm2  |PVC CEI2022 NTOR. | Grey RALTC35| 6.402mm | OK. | - T210180071] F | 3 | 3 | 0.75mm2 FUR - BLEND Black £5:02mm | OK.
| [127c180467] A | 2 | 2 | 20AWG | PVC CSA/UL 2667 Black 5.4z02mm | Ok | Ok | [1210780152] P | 3 | 4 | 0.75mm2 PUR - BLEND Black 7:02mm | OK.
1270180728 A | 2 | 3 | 20AWG | PVC CSA/UL 2687 Black 58:02mm | OK | OK. To70180384| R | 3 | 2 | O.5mm2 | TPR HAL FREE Black 6,5:02mm | OK.
1270180394| A | 2 | 4 | 20AWG | PVC CSAMIL 2667 Black §2:0.25mm | OK. | OK. 7210180004 T | 3 | 3 | 0,75 mm2 FUR CSA/UL Yellow 6,5:0,2mm | OK. | -
p A | 2| 5 | 20AWG | PVC CSA/L 2661 Black 7:02mm | OK. | - 7210180309 ¥ | 3 | 3 | 0,75 mm2 SI1L/0300 Red 65:02mm | OK. | -
1270180297] B | 2 | 2 | 20AWG | FUR CSA/UL 20668 Black 56z02mm | OK. | OK. 210180081 £ | 4 | 3 T mm? CNOMS Grey RALTODO0 | 7.140.2-0mm| OK. | -
1270180726| B | 2 | 3 | 20AWG | PUR CSA/UL 20668 Black 56:02mm | OK. | OK. - FE | & | 2 T mm2 CNOMO Grey RAL7O00 | 7,140,00mm| OK.
— [P76180387] B | 2 | 2 | 20AWG | PUR CSA/UL 30668 Elack 82:02mm | OK | OK.| [1270180043| T | 2 | 2 Tmm2 |FVC CEI2022 1O.R.|  Grey RALTO3S | 7,140,2-0mm| OK.
- B | 2 | 5 | 20AWG | PUR CSA/UL 20668 Black 7:02mm | OK. | - 1270180079 1 | % | 3 Tmm2  |PVC CEI202211Q.R.| Grey RAL70%5 | 7,140,290 mm| OK.
THo80123 D | 2 | 5 | C5mmZ | PVC T2 CEI20-20 Grey 55:02mm | OK. | OK | [1210180038] N | & | 2 T mm?2 PVCHC5 Black 6,5:02mm | OK.
- Fl 2 3 | csmme CNOMO Grey RAL7000| 5520,2mm | OK. | OK. | [121c180082] N | & | 3 T mma2 PVCHCS Black 6.9:02mm | OK.
1270180047] T | 2 | 2 | G5mm2 |PVC CEI2022 TOR. | Grey RALTC35| 5,540,350 mm | OK. | OK. T210180117] R | & | 3 T mm?2 TPR HAL FREE Black 7.1:02mm | OK. | -
E| [270180282] 1 | 2 | 3 | 0.5mm2 |PVC CEI2022 1OR. | Grey RALTCA5| 35,510,370 mm| OK. | OK. | [1270180085] N | 5 | 3 T5mm2 PVCHOS Black B.3+0.2.0mm| oK.
1270180746| 1 | 2 | & | O5mm2 |PVC CEI2022 NOR. | Grey RALT035| 6,5:0,2mm | OK. | OK. | [1210180873] | | 6 | 2 | 0.35mm2 |PVC CEI2022110.R.| Grey RAL7C35 | 48:02mm | OK | -
1270180777] 1 | 2 | & | G5mm2 |PVCCEI2022 NOR. | Grey RALTO35| 7z02mm | OK. | - 5 % | 7 | 3 | 20AWG | PVC CEAUL 2661 Yellow 56202 mm | OK. | OK.
1270180022] N [ 2 | 2 | ©5mm2 PVCHO3 Black 52:0,2mm | OK. | OK. | [121c180148] 1 | 9 | & | O75mm2 |PVC CEI2022110.R.| Grey RAL7C35 | 7,3:0,2mm | OK. | -
1202002753 N | 2 | 2 | ©5mm2 PVCHO3 Black 55:0,2mm | OK. | OK.
| roeeEs N[ 2 [ 2 [ 65 mm2 PVCHO3 Elack 8ommmar | OK. | OK.
1270180046| P | 2 | 2 | ©5mmz2 PUR - ELEND Black 55:02mm | OK. | OK.
T202002439] P [ 2 | 3 | G5mm? PUR - BLEND Black |55 +030mm| OK. | OK.
1210180302| P | 2 | 4 | ©5mmz PUR - BLEND Black 65:0,2mm | OK. | OK.
0002275 P | 2 | 5 | G5mm? BUR - ELEND Black | 7+0.3/0.1 mm| OK. | OK.
o | [2iereosce] A | 5 | 2 T8AWG | PVC CSA/UL 2661 Black 65:025mm | OK. | -
1570180729 A | 3 | 2 TEAWG | PYC CSAUL 2661 Elack §5x025mm | Ok | -
1210186156 A | 3 | 4 | 1BAWG | PVC CSAUL 3667 Black 705mm | Ok | - TABLE 1 - CABLES TYPE
1270180462] A | 3 | & TEAWG | PYC CoAMIL 2661 Black 78025 mm | Ok | -
180351 B | 3 | 2 TEAWG | PUR CSA/UL 20868 Elack 88:02mm | OK. | - Cede | Cable fypes Features Stranding
1270180127 B | 3 | 3 TEAWG | PUR CSA/UL 20668 Black §520,2mm | OK. | - S TR 030
—| [1Z70180760] B | 5 | 4 | TEAWG | FUR CSA/UL 20668 Black 7:02mm | OKk | - N PVC Application general purpose cable which has good 075 mm2 = 21 % 0.20
1270180463] 5 | 3 | 5 | 18AWG | PURCSA/UL 20668 |  Black 7.8202mm | oK. | - resistance 1o water, buf usually poor oll resisfance. L m2 = 28 % 0.20
1210180073| D | 3 | 3 | 0.75mm2 | PVC T2 CEI20-20 Grey £5:02mm | OK. | OK. .
270180745 D | 3 | £ | 0.75mmz | PVC T2 CEI 2020 Grey 7z0.2mm | oK. | - CEl 25ﬁiii:g*jg§g;i2m"f§d’ flane repardent one ooz - B X o
1202098206| | | 3 | 2 | 0.75mm2 |PVC CEI2022 NOR. | Grey RALTO01| 55:0.2mm | OK. | - : : 1 om2 - 32 % 020
C| [T2em8ci20] T | 3 [ 3 | 0.75mmz |PVC CEI2022 TOR. | Grey RALTO35| 620,2mm | OK. | - Orrer S0 restante 1o ol and chemcals. Con el S s - 26 0T
1270180743] 1| | 3 | 4 | 0.75mm2 |PVC CEI2022 IOR. | Grey RALTO35| 720,2mm | OK. | - P PUR wher comstantly inmersed in water, 075 mm2 = 42 % 015
TTc180052] N | 3 | 2 | 0.75mm2 FVCHGE Black £2:00mm | OK. | - 1 om2 = 32 % 020
1210180069 N 3 3 0,75 mm2 PYCHO05 Black 6,510,2 mm OK. - Approved to CSA-UL 2661, application general purpose cable 20 AWG = 32 x 0.15
1210180144 N 3 4 0,75 mm2 PVCHO5 Black 7,120,2 mm OK. - A PVC CSA-UL | which has good resistance to water, but usually poor oil resistance. 18 AWG = 52 x 0.15
__| (27618074 N | 3 | 5 | 0,75 mm2 PVCHO5 Elack 8.0+020mm | OK | - 20 AWG = 32 x 0.5
502004790 P 3 3 0,75 mm2 5UR -ELEND Black £,520,2 mm oK - B PUR CSA-UL | Approved to CSA-UL 20668, very good resistance to oil and chemicals., 18 AWG < 52 x 0I5
B
SS g QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS ’:‘RST ANGLE
W ==5| |sympoLs| (UNLESS SPECIFIED) MM ONLY - METRIC |1 © pRaIECTION
— | wn S g g _— mm ‘N[H DRAWN BY DATE TITLE
SREEF| | W-0 [TPLAGESE-— [T MARSZALEK  2012/11/12 EASTXXXXXXXXXXX
L_,Ll i ~ é % £ 3 PLACES [+ ——- —— CHECKED BY DATE DIN FORM A
® % =S 2(5|\/=0 [2PLACES|E = |- |ISZWAIKOWSKI 2012/11/12 EN 175301-803
) <€ U % j PLACE + - +-—— APPROVED BY DATE
A %’i%é% 0 PLACE [E—— [2——  MIWASIECZKO 2013/02/12 mgllgx
G g a5 ANGULAR +——-° MATERIAL NO. DOCUMENT NO. SHEET NO.
To==% DRAFT WHERE APPLICARLEIMATRIX DRAWING SD-121050-004 3 OF 3
owoo<l MUST REMAIN SIZE T THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A © WITHIN DIMENSIONS /A 3|INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
fb_frame A3 P MEF 5 8 7 6 5 | 4 | 3 | 2 | 1

Rev E1 2012/01/25



